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    Part – III     

 ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS  
Maximum : 80 Scores 

    Time : 2½  Hours  

    Cool-off time : 15 Minutes 

  

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  
 ‘  ’     

 . 
      . 
    . 
  , , ,    

. 
   . 
    . 
      

    . 
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   PART – I 

    (ACCOUNTANCY) (40 Scores) 

I. Answer any 4 questions from 1 to 5. Each carries 1 score. (4  1 = 4) 

1. Identify the written documents of a partnership. 

 (a) Partnership Deed (b) Articles of Association  

 (c) Memorandum of Association (d) Mate’s Receipts 

 

2. Sacrificing ratio = ________. 

 (a) Old Ratio – New Ratio (b) New Ratio – Old Ratio 

 (c) New Share – Old Share (d) Current Asset – Current Liabilities 

 

3. Leela, Malu and Seema are partners sharing profits and losses in the ratio of 3 : 2 : 1. 

Leela retires and her share is taken up by Malu and Seema in the ratio of 3 : 2. 

Calculate the new profit sharing ratio. 

 (a) 38 : 37 (b) 19 : 11 

 (c) 37 : 38 (d) 11 : 19 

 

4. Find the odd one 

 (a) Dissolution by agreement (b) Compulsory dissolution 

 (c) Dissolution by Court (d) Articles of Association 

 

5. On dissolution of a firm, partner’s loan is transferred to. 

 (a) Realisation A/c (b) Partner’s capital A/c 

 (c) Bank A/c (d) Drawings A/c 

 

II. Answer all questions from 6 to 7. Each carries 2 scores. (2  2 = 4) 

6. List out any two features of Partnership. 

 

7. Write a short note on Gaining Ratio. 
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    PART – I 

    (ACCOUNTANCY) (40 Scores) 

I. 1  5    4  .               

1  . (4  1 = 4) 

1.      .  
 (a)   
 (b)    

 (c)    
 (d)   
 
2.   = ________. 

 (a)   –    

 (b)   –   

 (c)   –   
 (d)   –    

 
3. 3 : 2 : 1  -     

.        
3 : 2     .      
-  .  

 (a) 38 : 37 (b) 19 : 11 
 (c) 37 : 38 (d) 11 : 19 
 
4.  .  
 (a)    
 (b)   

 (c)    
 (d)     
 
5.         

.  
 (a)   (b)    
 (c)   (d)   
 
II. 6  7    . 2  . (2  2 = 4) 

6.    2  .  
 

7.     . 
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III. Answer any 2 questions from 8 to 10. Each carries 3 scores. (2  3 = 6) 

8. State any three differences between fixed capital method and fluctuating capital 
method in partnership. 

 

9. Maneesh and Vasanth are partners sharing profits in the ratio of 5 : 3. They admitted 

Sreekumar as a new partner, 
8

1
 share in the future profits of the firm. 

 Calculate new profit sharing ratio of Maneesh, Vasanth and Sreekumar. 

 

10. What are the differences between dissolution of partnership and dissolution of firm ? 
(Any 3 points) 

 

IV. Answer all questions from 11 to 12. Each carries 4 scores. (2  4 = 8) 

11. Calculate Goodwill of the firm on the basis of 3 years purchases of 4 years average 
profit. 

 Profit of the firm : 

Year Profit 

2019 5,00,000 

2020 4,00,000 

2021 5,50,000 

2022 6,00,000 

 20,50,000 

 

12. Prasad, Prakash and Praveen are partners in a firm. Prakash retires from the firm. On his 
date of retirement ` 80,000 becomes due to him. Prasad and Praveen promise to pay 
him in 4 installments together with interest of 10% per annum at the end of every year. 

 Prepare Prakash’s Loan A/c. 

 

V. Answer all questions from 13 to 14. Each carries 5 scores. (2  5 = 10) 

13. Manu, Anu and Sinu are in partnership and during the year 2022, earn a profit            
` 85,000. Manu and Anu are entitled to 5% p.a. interest on their capital of ` 1,00,000 
and ` 75,000 respectively. While Sinu, who has no capital in the firm, is entitled to a 
salary of ` 15,000 p.a. Sinu gets a commission of ` 3,000. Balance profit is shared by 
Manu and Anu equally. 

 Prepare Profit and Loss Appropriation Account. 
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III. 8  10    2  .            

3  . (2  3 = 6) 

8.         
  3  .  

 
9. 5 : 3        

. 
8

1
      

.  
 , ,      .  
 
10.       

  ? ( 3  ) 
 
IV. 11  12    . 4  . (2  4 = 8) 

11. 4    3    
  .  

   : 
   
2019 5,00,000 
2020 4,00,000 
2021 5,50,000 
2022 6,00,000 

 20,50,000 
 
12. , ,      

.      .  
   80,000    .  .  
   4   10%    
      . 

    .  
 
V. 13  14    . 5  . (2  5 = 10) 

13. 2022  , ,      
 85,000    .    
1,00,000 , 75,000 ,     5% 
   .    , 
 15,000     3,000   
.       .  

 -   .  
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14. Mane, Bale and Deppe were sharing profits and losses in the ratio of 3 : 2 : 1. Their 
Balance sheet as on 31-3-2022 was as follows :  

Liabilities (`) Assets (`) 

Creditors 40,000 Bank 10,000 

General Reserve 50,000 Cash 7,500 

Bills payable 5,000 Stock 25,000 

Capital :  Land & Building 2,38,500 

 Mane 1,00,000  Debtors 40,000  

 Bale 75,000  Less : Provision   1,000 39,000 

 Deppe     50,000 2,25,000   

 3,20,000  3,20,000 

 Deppe retired from the business on 31-3-2022 as the following terms : 

 (a) Stock is valued at ` 30,000. 

 (b) Provision for doubtful debts to be increased to 10% of debtors. 

 (c) Prepare Revaluation A/c and Deppe’s Capital A/c. 

 

VI. Answer any one question from 15 to 16. Carries 8 scores. (1  8 = 8) 

15. Ajith and Asha sharing profits on 3 : 2 and they agree upon dissolution. The balance 
sheet as on 31-12-2022 is as under : 

Liabilities (`) Assets (`) 

Creditors 15,000 Cash at Bank 2,500 

Bank Loan 17,500 Stock 20,000 

Capital :  Furniture 50,000 

 Ajith 1,00,000  Debtors 10,000 

 Asha    50,000 1,50,000 Plant & Machinery 1,00,000 

 1,82,500  1,82,500 

 The firm is dissolved as on the date of Balance sheet. The assets realised as follows : 

 Stock is valued at ` 15,000. Plant and Machinery is at ` 1,10,000, Furniture at             

` 55,000, Creditors were paid at a discount of 10%. Realisation expenses @ ` 2,500. 

 Prepare Realisation A/c and Capital A/c. 
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14. 3 : 2 : 1  -  , ,   
.  

 31-3-2022       :  
 (`)  (`) 

 40,000  10,000 
  50,000  7,500 

  5,000  25,000 

 :   &  2,38,500 

  1,00,000   40,000  

  75,000   :    1,000 39,000 

      50,000 2,25,000   

 3,20,000  3,20,000 

    31-3-2022     
 : 

 (a)    ` 30,000. 

 (b)    10%  .  
 (c)  ,      .  
 
VI. 15  16    1  .            

8 .   (1  8 = 8) 

15. ,  3 : 2      
 . 31-12-2022     
. 

 (`)  (`) 
 15,000   2,500 
  17,500  20,000 

 :   50,000 

   1,00,000   10,000 

     50,000 1,50,000  &  1,00,000 

 1,82,500  1,82,500 
      .   

   : 
  ` 15,000,  &  ` 1,10,000,   ` 55,000. 10% 

   .                
` 2,500. 

  ,    .  
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16. The following was the Balance sheet of Ayusha and Vidhya, who were sharing profits 

3

2
 and 

3

1
 as on 31-12-2022 : 

Liabilities (`) Assets (`) 

Creditors 78,000 Cash at Bank 3,000 

Bills Payables 20,000 Sundry Debtors 10,000 

Outstanding Expenses 5,000 Stock 25,000 

General Reserve 10,000 Plant & Machinery 50,000 

Capital :  Building 2,00,000 

 Ayusha 1,00,000    

 Vidhya     75,000 1,75,000   

 2,88,000  2,88,000 

 They agree to admit Smitha into partnership on the following terms : 

 (a) Smitha was to be given 
3

1
 share in profit and was to bring ` 25,000 as capital 

and ` 10,000 as her share of goodwill. 

 (b) That the value of stock were to be reduced by 10%. 

 (c) A provision of 5% was to be created for doubtful debts. 

 (d) Creditors were unrecorded to the extent of ` 2,000. 

 (e) Investment worth ` 7,500 (not mentioned in the Balance Sheet) was taken into 

account. 

 Prepare Revaluation A/c, Partner’s Capital A/c and the Balance Sheet of the 

reconstituted firm after admission of the new partner. 

 

For Free Carrier Counselling contact :+91 8891314091



SY-549  9 P.T.O. 

16. 
3

2
 : 

3

1
              

31-12-2022      : 

 (`)  (`) 

 78,000   3,000 

  20,000  10,000 

   5,000  25,000 

  10,000  &  50,000 

 :   2,00,000 

   1,00,000    

      75,000 1,75,000   

 2,88,000  2,88,000 

        

 : 

 (a)   
3

1
  .  25,000  

  10,000    .  

 (b)   10%  .  

 (c)     5% .  

 (d)  2,000  .  

 (e)    7,500   

.  

      

  ,   , 

   .  
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PART – II 

  (ANALYSIS OF FINANCIAL STATEMENTS) (40 Scores) 

 

VII. Answer any 4 questions from 17 to 21. Each carries 1 score. (4  1 = 4) 

17. Interest on calls in arrears is charged according to ‘Table F’ at  

 (a) 5%  (b) 6% 

 (c) 8%  (d) 10% 

 

18. The debenture which are transferable by mere delivery are : 

 (a) Registered debenture (b) First debenture 

 (c) Bearer debenture (d) Convertible debenture 

 

19. Find the odd on : 

 (a) Fixed assets (b) Tangible assets 

 (c) Intangible assets (d) Long-term borrowings 

 

20. Identify the ratio which provides the information critical to the long run operation of 
the firm : 

 (a) Liquidity ratio (b) Activity ratio 

 (c) Solvency ratio (d) Profitability ratio 

 

21. Identify the cash outflows from the following information  

 (a) Commission received (b) Procurement of loan 

 (c) Purchase of plant (d) Dividend received 

 

VIII. Answer all questions from 22 to 23. Each carries 2 scores. (2  2 = 4) 

22. Issue of 15,000, 8% debentures of ` 100 each as collateral security for bank loan of        
` 15,00,000. 

 Give journal entry. 

 

23. List out any two limitations of ratio analysis. 
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PART – II 

  (ANALYSIS OF FINANCIAL STATEMENTS) (40 Scores) 

 

VII. 17  21    4  .            

1  .   (4  1 = 4) 

17.   ‘ F’      
    ? 

 (a) 5%  (b) 6% 

 (c) 8%  (d) 10% 

 

18.       : 

 (a)   (b)   

 (c)   (d)   

 

19.   : 

 (a)   (b)   

 (c)   (d)   

 

20.      
   : 

 (a)   (b)   

 (c)   (d)   

 

21.         : 

 (a)   (b)    

 (c)    (d)    

 

VIII. 22  23    . 2  .  (2  2 = 4) 

22. 15,00,000      100   
15,000, 8%  .  

   .  

 

23.      .  
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IX. Answer any 2 questions from 24 to 26. Each carries 3 scores. (2  3 = 6) 

24. Write any three difference between Shares and Debentures. 

 

25. Give journal entry : 

 (a) 5000, 8% debenture of ` 100 issued at par. 

 (b) 5000, 8% debenture of ` 100 issued at premium of 10% and redeemable at par. 

 

26. Classify the following transactions into operating activities, investing activities and 

financing activities of a firm. 

 (a) Sale of property 

 (b) Redemption of debenture 

 (c) Pay operating expenses 

 (d) Receipts for Royalties 

 (e) Purchase of furniture 

 (f) Procurement of loan 

 

X. Answer all questions from 27 to 28. Each carries 4 scores. (2  4 = 8) 

27. Describe the purpose for which a company can use the amount of securities premium. 

 

28. Explain any 4 objectives of financial statements. 

 

XI. Answer all questions from 29 to 30. Each carries 5 scores. (2  5 = 10) 

29. From the following statement of Profit & Loss of Kashi Traders, prepare comparative 

statement of Profit and Loss for the year ended on 31-03-2021 and 2022 : 

Particulars 2020-21 2021-22 

Revenue from operations 20,00,000 25,00,000 

Employee benefit expenses 4,00,000 6,00,000 

Other expenses 1,00,000 50,000 

Tax rate @ 50%   
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IX. 24  26    2  .            

3  .   (2  3 = 6) 

24.     3  .  

 

25.     : 

 (a) 100   5000, 8%   .  

 (b) 100   5000, 8%  10%  
,     .  

 

26.       , 
 ,     
. 

 (a)    

 (b)    

 (c)   .  

 (d)    

 (e)    

 (f)    

 

X. 27  28    . 4  . (2  4 = 8) 

27.        
.  

 

28.    4  .  

 

XI. 29  30    . 5  . 

      (2  5 = 10) 

29.   -   2021, 2022   
 -     : 

  2020-21 2021-22 

   20,00,000 25,00,000 

   4,00,000 6,00,000 

  1,00,000 50,000 

  @ 50%   
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30. From the following information, calculate cash flow statements from financial 
activities : 

Particulars 1-1-2022 31-12-2022 

Long term loan 3,00,000 3,50,000 

 During the year, the company repaid a loan of ` 1,50,000. 

 

XII. Answer any one question from 31 to 32. Carries 8 scores. (1  8 = 8) 

31. Anil Associates invited application for 10,000 shares of ` 100 each payable as  
follows : 

  On Application ` 40 

  On Allotment ` 30 

  On 1st and 2nd call ` 30 

 Application were received for 12,000 shares and excess application money refunded. 

 Suku, who applied for 500 shares failed to pay 1st and 2nd call and his shares were 
forfeited. These shares were re-issued to Thomas at ` 60 per share. 

 Give journal entries. 

 

32. The following is the Balance Sheet of Lechu Ltd. as on 31-3-2022 : 

Liabilities (`) Assets (`) 

Capital 1,00,000 Motor Vehicle 2,50,000 

Profit & Loss A/c 50,000 Land & Buildings 1,00,000 

General Reserve 50,000 Stock 2,50,000 

Creditors 1,00,000 Bills Receivable 15,000 

Bills Payable 40,000 Cash 50,000 

10% Debentures 5,00,000 Furniture 1,75,000 

 8,40,000  8,40,000 

 Calculate : 

 (a) Current Ratio 

 (b) Quick Ratio 

 (c) Proprietory Ratio 

 (d) Inventory to working capital 

____________  
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30.       
    : 

 1-1-2022 31-12-2022 

  3,00,000 3,50,000 

    1,50,000   .  
 

XII. 31  32    1  .            

8 .    (1  8 = 8) 

31.   100   10,000    
  : 

   ` 40 

   ` 30 

   &   ` 30 

 12,000      
 . 

 500   ,      
 .   .  
 60      .  

   .  
 

32. 31-3-2022        : 
 (`)  (`) 

 1,00,000   2,50,000 

-  50,000  &  1,00,000 

   50,000  2,50,000 

 1,00,000   15,000 

  40,000  50,000 

10%  5,00,000  1,75,000 

 8,40,000  8,40,000 

  : 

 (a)   

 (b)   

 (c)   

 (d)     

____________ 
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